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i Instructions for the Candidates

¥ 1. Write your Roll Number in the space provided on the top of this page.

. 2. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.

# 3. Atthe commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the
. booklet and compulsorily examine it as below :

‘ (i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
¢ sticker seal and do not accept an open booklet

i (i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty booklets

due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately
¢ by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Booklet will be replaced
" nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
¢ Number should be entered on this Test Booklet.

+ 4. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on the correct
response against each item.

¢ Example : CA> @ (© (D where (B) is the correct response.

+ 5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — Il only. If you mark your response at any
place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

6. Rough Work is to be done in the end of this booklet.

' 7. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space
' allotted for the relevant entries, which may disclose your identity, or use abusive Ianguagg or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disqualification.

' 8. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it
} with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicaté copy of OMR Answer
Sheet on conclusion of examination. ’

' 9. Use only Blue/Black Ball point pen.

t 10. Use of any calculator or any electronic devices or log table etc., are prohibited.

+ 11. There shall be no negative marking. !
12. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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1.

COMMERCE

Paper - I

Who is known for the concept of ‘Bounded
Rationality’ in Decision-making ?

(A) Herbert Simon
(B) Peter Drucker
(C) Henri Fayol

(D) Alfred Chandler

. Which among the following was the first

bank to open a branch on foreign soil ?
(A) State Bank of India

(B) Bank of India

(C) Bank of Punjab

(D) Allahabad Bank

. Which of the following criteria relates to

consumers seeing the brand association
as personality relevant to them ?

(A) Deliverability
(B) Authenticity
(C) Desirability

(D) Differentiability

1. el Agiell yeolui‘oitudcuasidiaar

ol Wiid AR Sl vield 87

(A) gofe [Mailol

(B) Ruzrgse
(C) &l 3

(D) wucks WosSAR

. Aol s¢ A Waiell il

fizall gl yan vz wid) &dl 2

(A) 222 dls g gegll

(B) cls Mg dodlau
(C) dls 0§ \wiol

(D) iceiclie cls

. Aldey Aoie AvéD aiel Aoaiel

Sl HIVES) gllos JNRIAUS A oI
87 :

(A) NMarer 2adl
(B) ulugddl
(C) ¢heloiadi

(D) Mooid



. In case of amalgamation in the nature of
merger :

(A) Accounting is made by pooling of
interest method

(B) Accounting is made by purchase
method

(C) Accounting is made considering the
same as slump sale

(D) Itis considered as hostile takeover

. Forissuance of ADR

(A) The Indian company directly issues
the same to global investors

(B) The Indian company issues its shares
to reputed financial institution in USA
that acts as depository

(C) The Indian company directly issues
the same to UK investors

(D) The Indian company issues its shares
to reputed financial institution in UK that
acts as depository

. Deduction in respect of royalty income
of authors under Section 80 QQB is
restricted to

(A) Rs. 25,000 (or) Income from Royalty
(B) Rs. 50,000 (or) Income from Royalty
(C) Rs. 2,00,000 (or) Income from Royalty

(D) Rs. 3,00,000 (or) Income from Royalty

4. Qellollswi-ll yslQui Aglsweai:

(A) Y@ot-2Ng-go2re ugllel o3y
vl

(B) vidle-uglell o1y v

(C) cauAd’ didfla aly cwiiQ

(D) ulign 25 Mieteusii WA .

. AR’ GlgR Uisal HIR:

(A) Algs AsivisRla eiIRAIA Sudl
Ag «idl 2 8

(B) yAuAell ulifsd otinsla d2ei

¢ oISk (SMNAledl) adl3 ad B
daeiRdla $udl del W widl s} D,

(C) Y3 ot AsiCIsRA GiRAlA Syl
Ag ¥l 82 B

(D) Y3l ulafsa anensla Afeen?

cisR (shidledl) afl3 ad 8 da
ARAIY syofl dotl R w1 83 B

. 563 80 QQB 350 AuiSiefl AAcd] uius

ol 2Aeelai suid ___ yell yauifta .

(A) 31.25,000 (mea1) quedl aieh vias

(B) 31.50,000 (wigsar) qucdl aiel viais

(C) ¥-2,00,000 (14&4en) qucd) aiell
214§

(D) 3-3.00,000 (&141) duicd) aiel
2198




7.

TRIPS came into force in

(A) 1995
(B) 1996
(C) 1997
(D) 1998

What is the minimum amount for RTGS
transactions under Retail Internet
Banking ?

(A) Rs. 5,00,000
(B) Rs. 2,00,000
(C) Rs. 10,00,000

(D) Rs. 1,00,000

. Match the following.

a. Group behaviour 1. Two sellers

b. Duopoly 2. One buyer,
one seller
c. Oligopsony 3. Paul Sweezy
d. Kinky Demand 4. Prof. Chamberiin
Curve
Codes :

(A)a-2,b-3, c-1, d-4
(B)a-4,b-1, ¢c-2, d-3
(C)a-1, b-2, ¢c-3, d-4

(D) a-2, b—1, c—4, d—3

7. TRIPS Al Evid sAIAMI

ARl &dl.
(A) 1995

(B) 1996
(C) 1997
(D) 1998

. MW o2z Alosol 8501 RTGS

glo3sUol AI2 oYeltH WA Zocfl B 7

(A) 31.5,00,000
(B) 31.2,00,000
(C) 31.10,00,000
(D) 3.1,00,000

. ofldoll WSS NS,

a. %8 ddol 1. A AuUaiRI
b. Bexcts oIl 2. As viReolR;
18l s AUl

C. IeURiuAs 5dixA 3. WNd 1A

d. wiagiel
disl us

Codes :

4. M. aoidlel

(A) a-2, b-3, c-1, d-4
(B) a-4, b-1, ¢c-2, d-3
(C)a-1, b-2, ¢c-3, d-4

D) a-2, b—1, c—4, d-3




i

10. The Monopolistic Advantage Theory of
foreign investment was propounded by

(A) Stephen
(B) Kindleberger
(C) Hymer

(D) John Dunning

11. Under GST, IGST is levied when
(A) Goods and services are supplied
within the State

(B) Goods and services are supplied
between States

(C) Goods and services are supplied
between Union Territories

(D) Goods and services are supplied
within Union Territory

12. For AS-3 on ‘cash flow statements’ the
respective

(A) Ind AS number is 3 and it is titled as
‘cash flow statements’

(B) Ind AS number is 7 and it is titled as
‘statement of cash flows’

(C) Ind AS number is 3 and it is titled as
‘statement of cash flows’

(D) Ind AS number is 8 and it is titled as
‘cash flow statements’

10.

11.

12.

22N Asgd AsisiRs giuEIoN
Reid ARl Mdifdd saai
vltell &cll

(A) 28301
(B) BsdoiaR

(C) &R

(D) %@l slaia

GST 869, SARIGST Y3
A1 8.
(A) HId 2iad A4 AvAAi yd

yisqiai 2419 8

(B) #d id A4 A¥A 9A yd
yisdiai 21198

(C) dld ia AuRA ZoguRid
uE 9 Y uisaini 2419 3

(D) Aid i AdIRA ZogriIRid
ueNaAi ydl wisaiai 2419 8

“Ba-5el ReNe2t A2 AA¥-3 Aoilid.

(A) Hos WA dioiR-3 B Jal
dof 25’ B2u-5cl 222023’ B

(B) osSRAA o) cicf-7 B ial
dey Mds'2Bedee 2Ng Ja-5c0' D

JoSAVRY ol cieiR-3 B al
dgj A5 ‘22eNez g 32u-5A'D

(D) YoSAAAU ol cicR-8 B 2ia
dd 25 Bu-5cl ReR2w' B

(C)
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13.

14.

15.

Standard Deduction in case of family
(Assume
alternate tax regime under Section
115BAC is not opted)

pension is restricted to

(A) Rs. 30,000 (or) }4 of family pension
(B) Rs. 90,000 (or) }4 of family pension
(C) Rs. 60,000 (or) ¥ of family pension

(D) Rs. 15,000 (or) 33 ¥; % of family
pension

Who wrote the book ‘I’ m Ok-You're Ok’ ?
(A) Thomas A. Harris

(B) Eric Bervie

(C) A. Wagner

(D) Fred Luthans

With reference to foreign exchange market
the function of providing information to
market making banks about prices at

which there are firm buyers and sellers
in a pair of currencies is performed by

(A) Primary price makers
(B) Secondary price makers

(C) Brokers

(D) Price takers

13.

14.

15.

8¢5 Vonetol BR2ABNI UHIRIG

suld ___Yell walkd
(aR) 3 8431115 BAC 850 Asltus
52 URMd ye 53 aiell)

(A) 3. 30,000 (1&1c1) 31 is Vorlotoll J5
(B) 31.90,000 (1&1di1) SIS Vorlotoll Y,
(C) 31.60,000 (wie1a) SIS VoRiotall J

(D) 31.15,000 (4&di) SIS Voglotel
33 %%

‘Wig AN 3 - Y R AE YRS
SlAavy 87

(A) DA A, ERA
(B) ARks AWy
(C) A. AoarR

(D) ¥s et

Ri22N Rl oivvirolt 2Aecldi As
ydelodl NG AR s¢ Bad wdleer
2a AUIR B A ikl iR fotaiil

sl A8 o ydl uisalg s13 52 B
(A) ul_ums (BHc o188l SRR
(B) M (Bucdt oiss] sl

(C) edId

(D) 6ilg QoliR



16.

17.

18.

19.

When a firm looks for new users in groups
that might use the product but do not, the

firm is using the strategy.

(A) New market segment
(B) Market penetration
(C) Geographical expansion

(D) Product development

Under perfect competition when price line
(AR) passes through minimum point of
AVC curve is called

(A) minimum losses point

(B) shut down point

(C) breakeven point

(D) profit point

In a structural diagram, who suggested
the three ego states of an individual ?
(A) Chris Argyris  (B) Eric Berne

(C) Tom Peters (D) Ernest Dale

Which is the first mutual fund established
in India ?

(A) SBI Mutual Fund

(B) Kothari Pioneer

(C) uTl

(D) Aditya Birla Sun Life AMC Ltd.

16.

17.

18.

19.

H13Ra sdl Ul wAR odl qursRl
safalell e Y AR d Jqal
Gueaidiofl 2Mer 53 B ¥ Buellad)

G2l 59l AS B uLl sl el

A3 ﬁél__cgé WUoilol)
GuA s} B,

(A) oy HiZ2 Adudee

(B) #i82 Va2el

(C) allails RurdRe

(D) Geuitaiol fusIR

yel eRgig 35 AR Bad v
(AR),AVC 8ol ool Rigaie
VARAUR 8 da___ 53y B.

(A) oYoidd ofsulet [Glg

(B) w2 siBa (V4] ola s2aiq) (g
(C) unge (g

(D) =9 [lg

Aoy gl (A <albdel el
vigdoll Rafi Yufl &dl?

(A) B 21RA (B) ARs cidl

(C) da el (D) welze 3d

eiRdal AueH sAI YRYA §5 ol
WUIYell g &d1?

(A) A ofl g RYRYUA §s
(B) Ssifl vk foR4R

(C) 3 ¥

(D) ik Ricil Aol clifs A Aa
A Mbes
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20.

21.

22,

in marketing the firm operates
in several market segments and designs
different products for each segment.

(A) Individual

(B) Undifferentiated

(C) Differentiated

(D) Niche

The mean of ten numbers is 58. If one

of the number is 40, what is the mean of
the other nine ?

(A) 54 (B) 60

(C) 18 (D) 56

The term ‘Exchange rate regime’ refers to

(A) The mechanism for determining
exchange rate at a point in time

(B) The procedures for determining
exchange rate at a point in time

(C) The institutional framework for
determining exchange rate at a
point in time

(D) The mechanism, procedures and
institutional framework for determining
exchange rates at a point in time and
change in them over time

20.

21.

22.

M3 Suddl idls
Riei0d cioiRaii dal feliod &’s

o AR Rafia ag2i A
qda 53 8.

(A) afBdald

(B) ifuoiivd w¥R
(C) Meivd
(D) [ufdee

£ AvARNN AW 58 B, N s
2AvAl 40 B. A Vo olcial ARIAY B ?

(A) 54 (B) 60

(C) 18 (D) 56

Rifaer ARlel GeAv 52 8.

(A) Ds Wssy AN RifiHA-€2 oiss]
sdlefl usld

(B) A5 WssA uMA Rufoa-e2 ois8
sciefl ufka

(C) Vs WssA AxA [loa-€2 ciss
s1llg] 2AeSlA-HIOY

(D) 9 WssA AH Rifoiara-€2 oissl
52clg] vial UMAAR dai oledid

slofl ual@, ubAl via
Aegly- oy




23. A resident non-corporate assessee can
claim deduction under Section 35 D for

Amortization of preliminary expenses to
the extent of

(A) 10% of the cost of the project
(B) 20% of the cost of the project
(C) 30% of the cost of the project

(D) 5% of the cost of the project

24. When SEBI was established ?

(A) 1935 (B) 1965

(C) 1992 (D) 1955

25. If MR < 0, then the TR will be

(A) rising (B) highest

(C) falling (D) zero

26. The Diamond model assumes that

(A) Multinational firms must develop
global strategies based only on home
demand conditions

(B) Multinational firms must pay less
attention to global consumers than
domestic consumers

(C) The national home base of a firm
must be the biggest market for a
multinational firm

(D) The national home base of a firm
plays a key role in shaping that firms
competitive advantage in global
markets

23. farll Rici-81Re seic MRS v of)
HRUGEA (AelgRaet ) A2 s6H 35D

30 Suldall €1l 58 U3 B.

(A) WMVs2oll WA ol 10%
(B) M¥s2oll WA oll 20%

(C) M¥s2 ol WA ol 30%
(D) M¥s2 ot VA ol 5%

24, Aol ol 2&ucll sAR Y &dl 7

(A) 1935 (B) 1965

(C) 1992 (D) 1955
25. 9 MR<0 d TR &2

(A) aag (B) udla

(C) aed (D) Yo

26. sighis MN3d (Diamond model)
Ag ar 3.

(A) ogula sudlxNA Aas
el Al el AHidlol)
Rauldell wuuR Qsuad NYA

(B) “igandla sucllNA 2efus 21es)
5dl Afrys 2A168) U A t2ulel
AINY NYA

(C) WA &g Vol AR cigAi\A
fucllzll a2 Al A civR A
NYgA

(D) udlA Vel HIER APas o3

d s4dlA ofl ygicais uaIlka)

ISR NI decdoll oyfhisi
el 8
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27.

28.

29.

The risk of return from investment can
be measured through

(A) Variability of rates of return from
average rate of return as derived in
the form of standard deviation

(B) Variability of rates of return from
average rate of return as derived in
the form of median

(C) Comparison of return from investment
with industry returns

(D) Comparison of return frominvestment
with competitor’s return

Section 31 of the Competition Act, 2002

deals with

(A) Appearance before commission

(B) Inquiry into combination by
commission

(C) Orders of commission on certain
combination

(D) Rectification of orders
Which of the following is not included in
a job design ?

(A) Identifying what tasks need to be
carried out

(B) When and how tasks are to be
carried out

(C) The number of tasks to be carried
out

(D) The payment rates for the tasks to
be carried out

27.

28.

29,

AsIRloll ddRe] ANvid gl Al

usi B,

(A) uHIeleld Riudoioll 3uati AR
qdacR €&l qadR-&dfl yRadet-
MNadi

(B) HEARoll FUAi AR -4NcRR
edl gadR-grdl
uRadeizfliaai

(C) dsiRicll YadR ia GeNdAall
qadell AviteNe

(D) Asilell g o MldauEloll
qndzell Auiel ol

udl vkl 2002 ol sdA
31 A1 Acifia B,

(A) SlH2lol AaL 1R UY

(B) sRigial Il ANwolai duiy
(C) WssA ANwol U sMigiololi A2
(D) el Yuuzeu

Fdetziell sy Aot Shsigfatai WA
ol 7

(A) sul SR &1y eral %3 B d
Aavg

(B) s4R ia 3l Ad sidl &
GECTETIERIER

S18 €41l ViR SITol)
Av

(C)

81 €RUIAI VideiR SRIT HI2
Yysaefl &

(D)
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30.

31.

32.

33.

Which of the following Government
scheme is related to financial inclusion ?

(A) PMJBY

(B) UJUWALA YOJANA

(C) PMJUDY

(D) PM-UDAY

Marketers typically focuses on

in choosing the points of parity and point
of difference that make-up their brand
positioning.

(A) Brand Equity

(B) Brand awareness

(C) Brand benefits

(D) Brand architecture

The IMF was established in the year
(A) 1944 (B) 1946

(C) 1955 (D) 1956

One of the crucial assumptions of Walter
model of dividend distribution and firm
value is that the firm finances its all
investments through

(A) extemal debt (raised for investment)
(B) extemal equity (raised for investment)

(C) retained earnings

(D) external commercial borrowings

30.

31.

32.

33.

oflAaieNl s AW\ Nevati llNSY
AN (G1ollfoAAA gotseiret )

A1 Aeilkia 8.
(A) dl An ¢ ol qiy
(B) Gyyadl Ayl

C) 1 AAn ¢ €] iy
(D) U1 R - Gey

‘e’ AR a1 alles MIMaifeio ukal
Sodld 53 & WS 2§ VWA A
Yoz 0§ (B§0A ol i€ ¥

" —— TN
(A) dies gsdld)

(B) ¢los A (¥12ddt)
(C) dies Aoz (cied)

(D) gllos d1E25u

IMF ofl 2@ayall sa1 a9y 3i a¢ &d)

(A) 1944 (B) 1946

(C) 1955 (D) 1956

Bises aguiell AHa V) yeue Qe
Msdg As liifus (Wdlcq]) Viojial
8 3 U4l doll ey Asiel Aol
aieii GlRL Wl uis B,

(A) l&l 2al (Asia 2 Geil 5dl)
(B) cua gsNdl (st a2 Gell s3cll)
(C) «wadl-2dl saef

)

ollel - yiId) GaR
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34.

35.

36.

37.

Cost Infiation Index for the financial
year 2020-21 notified by the Ministry of
Finance is
(A) 289 (B) 301

(C) 317 (D) 280

In an inflationary period, additional
depreciation is required to be charged
to cover the backlog of depreciation of
gross current replacement cost of the
assets that increase every year when
accounts are prepared as per

(A) Cash System
(B) Current Cost Accounting Method
(C) Current Purchasing Power Method

(D) Mercantile System

The WTO is the successor to the

(A) GATT

(B) ASEAN

(C) EU

(D) UNCTAD

Under the Companies Act, 2013,

companies with how much net worth
have to spend on CSR ?

(A) Rs. 100 crores (B) Rs. 200 crores

(C) Rs. 400 crores (D) Rs. 500 crores

34.

35.

36.

37.

RN Al skl Yfud diensl
o 2020 - 21 a2 wif §AHA
yusvis B,

(A) 289 ~ (B) 301

(C) 317 (D) 280

oIl s¢f ueals uan Aol duvidii
AR Al Foldloll ANA EWRYlol

dsARIdell g6 oled] vifai } €2
gy 4 AR B A AHiddll YeRIell
guRio ¥33 1A oividini 2419 8

(A) dss uealy

(B) uig-vidf (110l vealn

(C) wg wdle-uba ueald

(D) el vealy

29 IR A218a1(WTO) —_ of
ool B.

(A) 32 (GATT)

(B) ARiu101 (ASEAN)
(C) ¥y (EV)

(D) UNCTAD

gudls Ase 2013 860, 32dl aead

gr1dd] §uefleNA CSR (G Nef)
A1AIDS vaIed]) UR vl s

us 87

(A) 31.100 85 (B) 31.200 53s

(C) 31.400 5As

(D) 31.500 8As
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38.

39.

40.

41.

Which combination is incorrect ?

(A) F.W. Taylor — Scientific
management
(B) EtonMayo — Hawthome
experiments
(C) Douglas - Expectancy
McGregor theory
(D) Frederick ~ Motivation
Herzberg Hygienic theory

Which is the largest Co-operative Bank
spread over many States in India ?

(A) Saraswat Co-operative Bank
(B) Cosmos Co-operative Bank Ltd.
(C) SVC Co-operative Bank Ltd.

(D) Bharat Co-operative Bank (Mumbai)
Ltd.

In a linear regression y = a + bx, b indicates

(A) slope (B) intercept

(C) variable (D) correlation
Brand is the added value
endowed to product and services.

(A) loyalty

(B) equity

(C) preference

(D) identity

38,

"~ (B) vezd AR

39.

53y AANvol WI§ B2
(A) Ag.s0icy.26R — Asuldis ABido

— 81 A3

(C) sacIAsANR — V21 Reid

(D) ¥sRs &l _ Daen 29201

Reic

elctell uel AwH Jcudcll Qe AA
e8I ols 56 B ?

(A) AR AesKH) dls

(B) 811 AesI¥) dls dlaflRs

40.

41.

(C) AAd] AMyesid) ds dlalizs

(D) eira uasidl ds (3oigf) dlelRs

A [H1ad oiy iy =a+bxai,
begild B

(A) &l
(C) ud

(B) @id:say
(D) RA&RAciE

dlos B VeIl Ad AdiAi YA RAYool
(value endowed) &

(A) agierd]

(B) g5
(C) uieal

(D) M
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42.

43.

44,

Assuming a constant level of fixed assets,
a higher CA/FA ratio indicates

(A) Aggressive current assets policy
(B) Moderate current assets policy

(C) Conservative current assets policy
(D) Average current assets policy

A historical record of where the funds

came from and how these were utilized
during the year is known as

(A) Funds flow statement
(B) Cash flow statement
(C) Cash budget
(D) Capital budget
refers to the determination of
all goods and services by the interaction

of the forces of demand and supply
without any external interference.

(A) Product mechanism
(B) Price mechanism
(C) Cost mechanism

(D) Revenue mechanism

42,

43.

44.

Rl dRSAMA ol AYUIUd g
igidlol 5ol CA/FA SN GudR YeNdR

euid 8
(A) 258 Uig - ASUIAAAR

(B) aHeAA UG - RSAAdAQ

(C) 3feYd ulY - AsAIHAR

(D) AR~ UG - 2SAIHA AR

A5 AlsIRis ot Fni g € Alol
eIl saiell i1y a sAT dURAY
dof dld 8

(A) @iS1 -udIE US

(B) A8S-MdIE UlS

(C) Ass-iety uA

(D) ¥8l-viewy ux

Siguel cligd AU Qo Aol ial
yeasiell WRAAll Baimfafban wt
—— a3 gg A4 Adiilell Baid
Auiel Gedu S B.

(A) Beuiea veald
(B) ona-fBad vealy

(C) vl yealy

(D) 21145 veald




45.

46.

47.

48.

‘Marketing and Innovation are the two
basic functions of a business enterprise’.
Who is known for this statement ?

(A) Philip Kotler

(B) William J. Stanton
(C) Henri Fayol

(D) Peter F. Drucker

IPPB in Banking denotes

(A) Indian Public Personal Banking
(B) India Post Payments Bank

(C) India Post Public Bank

(D) Indian Public Payments Bank

If the correlation coefficient is a positive
value, then the slope of the regression
line

(A) must also be positive

(B) can be either negative or positive
(C) can be zero

(D) can be infinite

The technique used for stimulating
creativity identifies a problem and then
considers the dimension, the medium
and the power source.

(A) Attribute listing
(B) Mind mapping
(C) Lateral thinking
(D) Morphological analysis

45.

46.

47.

48.

HESDL A alfidldl A AR AlgAoll
A HAA sl B, w1 Mdzol 2 e
iefd 82

(A) By ez
(B) Rifaa |, RLodat

(C) &l ¥Aet
(D) fuez As. gs2

dBoai IPPB yud .

(A) goSlaol uRAs uNotd clfbol
(B) doslal UlRe A2 dls

(C) oSl Y122 ulds dls
(D) "oSlAal ulbcs WNo2y dls

o) uedolue HERA gol DA u [ad
doig vl 2l 82,

(A) €ot o

(B) o 3 an302

(C) UYed

(D) iy

(el aieNl s ueal ol Ruda
FoH, AURUe] N dl Aofl Wil ial
dell 3o 1ida Mea g2 D2

(A) Wgloye @l

(B) H1gfos Aoy

(C) A2rd eiflat

(D) wélAse AoticdlAA
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49. Which of the following is not a clause of

Memorandum of Association ?
(A) Situation (B) Capital

(C) Subscription (D) Directors

50. To find debt equity ratio the denominator is
(A) Number of equity shares
(B) Paid-up share capital
(C) Reserves and surplus
(D) Networth
51. Who is known for pointing out relationship
between strategy and structure ?
(A) Herbert Simon
| (B) Tom Peters
(C) Alfred D. Chandler
(D) William G. Ouchi
52. Income elasticity of demand for inferior
goods is
(A) Positive
(B) Negative
(C) Zero

(D) Greater than one

49. fdotiaiell sg AARosH g
AMRidelelall sata aell.

(A) uRRal (B) ¢

(C) dai¥a (D) faEus)

50. 2al-gscNd) ol odlxiz off Beal &

(A) g5l ol AvI
(B) eruig UAd 3¢

(C) wiolidd Vil AN
(D) qeud

51. cerUall idl Ay (ciare!) A
siciaa) [ifu sdl HR e wefd

817
(A) gole ot

(B) da W2l
(C) v»&s 9. ulsaR:

(D) Rican ». ¥

52. gaidlojaictriiatdl cixeell aiidtell 4145
ANAd! .

(A) @at
(B) =p&
(C) 2ot

(D) Vs sl qaRr
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53.

54.

55.

56.

What is the median of the sample
5,5,11,9,8,5,82

(A) 5
(C) 8

(B) 6

(D) 9

Minimum required paid-up capital for
opening a Payment Bank according to
RBI is :

(A) Rs. 500 crores

(B) Rs. 100 crores

(C) Rs. 300 crores

(D) Rs. 200 crores

If the capital budgeting decision (a project)

generates constant cashflows each year
then payback period =

(A) Annual cash flows/ Initial investment
(B) Initial Investment/Annual cash flows

(C) Present value of annual cash flows /
Initial investment

(D) Present value of annual cash flows/
present value of initial investment

Unabsorbed depreciation can be carried
forward to the subsequent years by the
Same assessee for a period of

(A) 4 assessment years

(B) 7 assessment years

(C) No time limit

(D) 8 assessment years

53.

54.

55.

56.

5,5,11,9,8, 5, 8 [uesfol aceree

3 87
(A) 5 (B) 6
(C) 8 (D) 9

ARAIRAY AAAR Yoz s widdl
H2 ¥3dl oyolan YsAd Y4l
)

(A) 31.500 sRAs
(B) 31.1008s
(C) 31.30083s

(D) 31.200 sAs

N Y-z frefa(¥se) €2 oF

AN ASS-UdIE Gcdool 53 Al Ao
qad-MiRdan &

(A) ailfs Ass wale/Alide] Asiel
(B) uzag Asiel/difis Ass waig

(C) wifis Ass ualed adaiie-aca/
APiIdg sl

(D) ais Ass uaise] adatel-ac/
ARl As1R1e] addior YA

AUYANA GARIA As¥ AHY2NIN
HIZ Aol YcAiSal 8T Gl
Ul ol gl @y USsIY D,

(A) 4 dnsreN axl

(B) 7 2tisrefl axl

(C) uua wAfer oel]
(D) 8 viisRefaxl
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57.

A promise to compensate wholly or in
part, a person who has already voluntarily
done something for the promisor is

(A) enforceable

(B) not enforceable because it is without
consideration

(C) Void

58.

59.

60.

(D) Voidable

Which one is a portfolio investment ?
(A) Joint venture
(B) Acquisition

(C) Investments by Flls (Foreign
Institutional Investors)

(D) Wholly owned subsidiary

in Luther Gulick's POSDCORB, “p”
stands for :

(A) Division of work
(B) Democracy
(C) Decision-making

(D) Directing

The distribution that is formed by all
possible values of a statistics is known as

(A) Hypergeometric distribution
(B) Normal distribution
(C) Sampling distribution

(D) Binomial distribution

57. 2iuel wadl 24ifis 9 dacRuNAIg

aud, s calbd FAuAdy Q1A
ol wiuslR A2 §95 53 B.

(A) Qe s ustal aqg ®

(B) EREICE RV LA Qs oid) siRERIB a
and? 9oRr ®
(09} A eclidd d

(D) A Rewidadd u3 3

. §Y wReAUHA A5 (Qda@asal)

87
(A) ysd e

(B) *iuiEdt
(C) fugeh sjeuifly Astasiz G ASIA

(D) 2iyel aifudlell V2l Sudll

R Y@s A wdd POSDCORB

A D g uRA B
(A) siig ey
(B) Qisidl

(C) fefa @dl

(D) foidaiol

. Presion qaRicifid yell 6l R

Ridel____ a3 Ao 8.
(A) erRIwRNARS Riczel

(B) uait [uael
(C) foedl fuare
(D) Buél Ricre!



61. Match the following :

List A ListB

Institution Year of

Establishment

1. Imperial Bank of India a. 1935
2. Reserve Bank of India b, 1955
3. State Bank of India c. 1921
4. Industrial Development d. 1964

Bank of India
(A) 1-a, 2-¢, 3-d, 4-p
(B) 1-d, 2-a, 3-b, 4—¢
(C) 1-a, 2~d, 3-¢, 4-p
(D) 1-¢, 2-3, 3-b, 4-d
62. In the case of a Giffen good, a fall in its
price tends to
(A) Demand remain constant
(B) Increases demand
(C) Reduces demand
(D) Abnormal change in demand
63. The heart of the internal records system
is the
(A) Pay-roll system
(B) Purchase order cycle

(C) Order-to-payment cycle

(D) Expense cycle

61. oflAoll ¥sSI NS

€] A ] o

222 Ul of gy
1. ¢aflfld ds 20g godlan  a. 1935
2. A1xd ds g ol b. 1955
3. ¥ ds 2ilg ol c. 1921
4. dos@lud 3qdludez g d. 1964

A5 ogl

(A) 1-a, 2—-c¢, 3-d, 4-b
(B) 1-d, 2—-a, 3-b, 4-¢
(C) 1-a, 2—gq, 3-¢, 4-b
(D) 1-c, 2-a, 3-b, 4-¢

62. ollgol argoltl B2unati, Aol Maaai
€219 Yl

(A) ¥id Add 2} B
(B) aia 48 B
(C) aia a2 &

(D) il 13108 2512 iy D

63. A diaRs IS Pread sex

A2l B.
(A) U-dd Ryzen

(B) vl - 0§ us
(C) W82 & Vee us
(D) waf us




64.

65.

66.

Given the constant K, and K, and
K, < K,, the WACC(K,) will decrease
continuously with increase in financial
leverage measured by Debt/value is
given by

(A) Net income approach

(B) Net operating income approach
(C) M-M hypothesis proposition — |
(D) Traditional Theory

PEST analysis

(A) a checklist to ask from political,
economic, strategic or technological
developments can influence an
industry and a company

(B) abroad frameworkto help managers
understand the environment in which
their business operates

(C) a checklist for forecasting political,
economic, strategic or technological
factors

(D) aframework for strategic analysis for
internal and external environment

Taylor's concept of functional organisation
is against the principle of

(A) Division of work

(B) Unity of command

(C) Span of control

(D) Centralization

64.

65.

66.

K, 219 K, 2aidd 83 2ia K <K,
Qo i 2g/ycell Hulg enensl
Ry 9 @i WACC(K) Rddd
ged) o A euland B.

(A) Avufl- 2iias AR GIRL
(B) Awfl -siiRd 20198 D21 Gl
(C) Da-AA uRsceustiell EuiRd -16IRL

(D) uuRrid Beld dRL

PEST Ry=auui

(A) uvdla,0@s, cYeics 24l
asoldl fusia B. Galol el
Suolal 3l 93 yeuRd s 2B
B, a yoal a2 As dle

Ao Qs A4AA I
vyafazeni sid s 8 d
AMogclLHl HEE 8§24 AR

AS§ Aus HY

(C) u¥dlu, ks, yeicis 2uql

asolldl yRoi ol 18 A2
As Vs dle

(D) wicdRs i oy uAiaReE AR
Qells QN ARy Wy

(B)

3o stedsidl iU vl
 Reid ol fuzea B

(A) sing Riotivdl
(B) wiiduell sal

(C) Riia1etel sl

(D) o520
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67.

68.

69.

70.

Rate of depreciation on Buildings-
Residential Buildings other than Hotels

and Boarding houses is
(A) 30% (B) 20%

(C) 10%

/

(D) 5%

When a party to a contract transfers his
contractual rights to another, it is known as

(A) rescission of contract
(B) waiver of contract
(C) discharge of contract

(D) assignment of contract

is the world’s largest single markets
with 27 member countries, a common
currency and millions of consumers.

(A) NAFTA (B) APEC

(C) EU (D) ASEAN

Core competencies tend to refer to
areas of special technical and production
expertise, whereas
tend to describe excellence in broader
business.

(A) Process benchmarks
(B) Distinctive capabilities
(C) Distributive capabilities

(D) Concentric capabilities

67. 82 2ia Nl 8164 Ratatell gARA
WBRAIS iR W g A €2

8.
(A) 30% (B) 20%
(C) 10% (D) 5%

vuid 520240 As gl Joi] 820l

USSR v WAl AR 5> 8,
QR A WNavy B

(A) 8RRl 2¢ s2¢

68.

(B) 82Rofl 1) (52R ¥ 5:q)

(C) sARg] R434¥oi
(D) 82uefl Wugll

27 A6 22N, As Akl
UAL! el vl 2188 A Ryaqf
Aeh g Risig oivr B,

(A) NAFTA (B) APEC

69.

(C) EU (D) ASEAN

70. “8RR fuleolU” dsofid) 249 Bcuies

§Uadla asd 5} B, vy
HHMi Aesdig) oo 53 D,

(A) MBI Aoy aidy

(B) RRre 2taiciz)

(C) Rider 213ci)

(D) Bodld 23




i

71.

72.

73.

What is NGTA of RBI ?

(A) National Green Tribunal Authority
(B) Next Generation Treasury Application
(C) National Gross Treasure Authority
(D) National Green Trees Authority
When all other factors are constant, the
break-even point will decrease by

(A) increasing the fixed cost

(B) increasing the selling price

(C) decreasing the contribution margin

(D) increasing the variable cost per unit

According to dividend growth model
assuming normal growth, the cost of

equity (k,) is

Di g

(A) Py K

D
(B) Kez’F%'*'g

D,

©C) Ky =

71.

72.

73.

RBI 9 NGTA g 87
(A) Agioic Mol gloyoid WARA
(B) A8z oiktlal 3l Audideiel

(C) Aot AMA o VAR
(D) il Met D% WARE

i viod UGN udd VA AR
Wz Rig a2

(A) Rez v qaraiell
(B) Quat Bud aaruidl]

(C) AELet NN uziscuell
(D) RsAéls 2iferR vl qarqyidl

2oy geelier igdlel 5809 (Sluses
gfta M3d uHIE gsdldla v B.

Di 4
PO

(B) Ke=




&

74. Maximum ceiling of interest on borrowed
capital under section 24 (b) is deductible
and the individual has not opted for
alternative tax regime under section 115
BAC is

(A) Rs. 50,000 (B) Rs. 2,00,000
(C) Rs.1,00,000 (D) Rs. 5,00,000
75. An agreement not enforceable by law is
said to be
(A) Void
(B) Voidable
(C) Valid

(D) Unenforceable

76. The law of diminishing returns assumes

(A) There are no fixed factors of
production

(B) There are no variable factors of
production

(C) Utility maximized when marginal
product falls

(D) Some factors of production are fixed

77. The Indecent Representation of Women
(Prohibition) Act was passed in the year

(A) 1956
(C) 1976

(B) 1966
(D) 1986

74. sayu 24(b) 350 Gar dad) 38l wR

U¥ell Her Hufel sy i 8 o
EARN saxn 115 BAC 850 Asleys
52 ARIel Uie s aief]

(A) 50,000 3. (B) 2,00,000 3.

(C) 1,00,0003. (D) 5,00,000 3.

75. A4l 2R 3 ¥ si¥E w2 dy sdl
USRI A3 oiefl A s3eyy D

(A) edlidd
(B) eciida agf 3 Ag
(C) asioy

(D) aciati of 3 ausiy dq

76. g2dl gadel Py a3 D,

(A) Bcultololl g Re YR ofel]
(B) Bevieotott DY 2o yloid) otef]

(C) Riatid Geulea €2 dftesjes
HEHH Y1y D

(D) Bcuieolotl B2cis YRuA) Peor B

77. %ol vieis il (ulticig)
ARG ____ q¥ai yaur saqua

A1) &q).
(A) 1956 (B) 1966
(C) 1976

(D) 198 |
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78.

79.

80.

Which is not a past-oriented method of
performance appraisal ?

(A) Rating Scales
(B) Qhecklists
(C) BARS

(D) 360 degree appraisal

Which one among the following statement
is true in the context of the testing of
hypothesis ?

(A) It is only the alternative hypothesis
that can be tested

(B) ltis only the null hypothesis that can
be tested

(C) Both the alternative and the null
hypothesis can be tested

(D) Both the alternative and the null
hypothesis can not be tested

Capital profit with reference to holding
companies is

(A) Post acquisition profits of the
subsidiary company

(B) Profits earned by the subsidiary
company upto the date of acquisition
of shares by the holding company

(C) Profits earned by the subsidiary
company by unusual transactions

(D) Profits made by holding company on
sale of goods

78.

79.

80.

vesloiaa] yeaisael cigsia dzfl veadl
sy adll? |

(A) ¥ W

(B) As dl2

(C) BARS

(D) 360 Sl e Aisd

uPseyd uRealalel eoli didataiel]
5y Rigiiol Aca B?

(A) §5d As(As ufdseudid uRal
sdl usia 8.

(B) §8d Rausraell uRseysiid
uRewt sd sy B.

(C) oot sleus 2id [seell ulk
seudi usifl usA B

(D) olodl AslEus wia (sl ul
scudll usiRfl usidl ¢,

AXoL susll ol 2Aeofni yslola
gl 87

(A) ¥uiea ugled V2l gueflell dl§)

(B) Aot suellAd Vatsusllott A2
aluledt sul curR Yell Veiguoflon

ai§)

(C) widiiod Mesaiiel Aetsuelletl oif)

(D) Aledlor Suollah anciett At Aiell
ot§)



81. Standard deduction under section
16(i)/i(a) is subject to the maximum of
from the AY 2020-21 and the

individual has not opted for alternative
tax regime

(A) Rs. 10,000 (or) amount of salary
(B) Rs. 20,000 (or) amount of salary
(C) Rs. 40,000 (or) amount of salary
(D) Rs. 50,000 (or) amount of salary
82. Incase of ‘Zero interest Fully Convertible

Debentures’, (ZFCD) return to debenture
holders is available in the form of

(A) Difference between the issue price
of ZFCD and the market price of
converted share

(B) Difference between the issue price
of ZFCD and the redemption value
given by the company

(C) Interest over the life of ZFCD

(D) Interest + difference between the issue
price of ZFCD and redemption value

83. As perthe GST Act, An Invoice must be
issued

(A) At the time of removal of goods

(B) On transfer of risks and rewards of
the goods to the recipient

(C) On receipt of payment for the supply

(D) Earliest of the above dates

81. sa16(i)/i(a) 36 MaAIRIGd Syl

wsell gy 2020-21 8l HeH 3
ieflol B Aa AfldA Vsfeus s2

URMel e 53 a2l

(A) 10,000 31. A&l Y[Rl 253
(B) 20,000 3I. A4l YRl 8
(C) 40,000 31. AUl UdIIRoAl 28H
(D) 50,000 3I. 24¥Udl Ya1IRofl 28

82. AR 822 ged) scadlod BRouz
(s A5 AN) ai gad(oNleil
8 sa1) 3uai @

(A) 35 Ag W Aol ol Bad 219
UdRA Ae{l oivR (Batdo) dsiad

(B) 3s g W Qo 2qlelN Bad
A Suofl 2ila Aisaefl yeAod
dsiad

(C) Bs Ag M At yaix Ao
ERlol of I

(D) <uiw+R3s A5 Wl Q) WloioN
Bod viq saell YA dgidd
83. GSTUs2 Y¥u SAQSY % 5G] U
AldeAs §7?

(A) M slecioll ¥4

(B) Yltciscll A Mictoll MK WA
WRARS eaidWRl uR

(C) yrast e ysaulled W ur
(D) GuAset Atfvlloll cd3cll 3
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84.

85.

86.

A liability takenover by a partner at the
time of dissolution is credited to

(A) Profit and Loss Alc

(B) Partners’ Capital A/c

(C) Realisation A/c

(D) Revaluation A/c

When Apple introduced its i phone in
USA, it was priced at $ 599. Two months
after the introduction, the price has came

down to $ 399. What kind of pricing did
Apple adopt ?

(A) Loss-leader pricing
(B) Market-penetration pricing
(C) Market-skimming pricing

(D) Value pricing

The five forces model can be used to

(A) plan a firm’s global strategy based
on internal firm resources

(B) understand a firm’s strategic internal
assets in global markets or regional
markets

(C) analyse a firm’s competitive position
in a specific market segment or
similar market segments

(D) explain why industry change may
force firms to relocate parts of their
business to other countries

84.

85.

86.

Aol Ruodet wnA ecller dldd
qqieidl ¥l 4R 8.

(A) oigl-gjs2llal viId
(B) cidNedall ydl viid
(C) axy@id viid

(D) Yot HEAisel ViId

Ui} Aud § A YAXLAM Wdllol
gl Ao 53T AR Aol Slaid
¢ 5996d). A #dlail clie SudllA
Eaa $ 399 s &dl, SudlA 8¢ Bad
AuiR il vl s8ARI?

(A) At disz wghiol
B) #iZz Vel Mgl

(C) aiSz AR wigRiol
(D) dey miglidl

ulu eolloll e GuNa1 88 usk B,

(A) Uil tidfes duudlsl IR
Avojd AMRAS cygRUsllell
ANe¥olle] VIRNYa 852G

(B) AMs ol viaal YERS o
Aol yicas uicdRs fuflda
Aaevel)

(C) WSS GI¥R @I Al Aol
civiz ol Vol 2usicas
Rafie Ri2Awel 89

(D) uumd B 3 Geld uRdud REAEME

Aol ygARIcl CHIPNA Viod TN
llotlicRel 5241 Evtiel 31 &8 B B,
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87.

88.

89.

Average fixed cost

(A) decline as output increases

(B) do not change as output increases
(C) increase as output increases

(D) are always constant

Employers’ contribution towards recognised
provident fund, NPS and super annuation

fund is not chargeable to tax from the
AY 2021-22 to the extent of

(A) Rs. 1.5 Lakh per year
(B) Rs. 2 Lakh per year
(C) Rs. 5 Lakh per year

(D) Rs. 7.5 Lakh per year

While auditing the tangible assets, for
correct valuation of the same

(A) The auditor should ensure that the
depreciation has been charged and
the method used is appropriate and
the impairment assessment has been
carried out by the management

(B) The auditor should ensure that there is
no change in the depreciation policy

(C) The impairment loss need not be
taken into consideration

(D) The auditor should ensure that the
depreciation policy is followed as that
of the competitor

87.

88.

89.

AR R v
(A) Geulgaoll daRl 419 €2 &

(B) GBeuitdoll daRl A1Q Aa
8Y FER A el

(C) Geultololl darRl 2418 9 B
(D) éAl Rer @ B

Hiod MSos §s, Aol A3, 2ia)
HUR VoA elot §5HI ASAELAL of NoIELol

WsiRQll gy 2021-22 ¢l ge el
52 dydidl Ist o],

(A) qils 31.1.5 dv

(B) qifis 31.2cdm

' (C) aifis31.5cv

(D) aifis31.7.5d1v

Yd-duRle] 202 sl quid Qe
ARl YeAisa HIR
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90.

91.

92.

93.

describes the present state

of affairs as it exists without having any
control over variables.

(A) Analytical Research
(B) Descriptive Research
(C) Applied Research

(D) Distinctive Research

The internal records systems supplies
results data, but the marketing intelligence
system supplies data.

(A) Internal

(B) Revenue

(C) Thematic

(D) Happenings

A bag contains 5 red balls and some blue
balls. If the probability of drawing a blue

ball is double that of a red ball, then the
number of blue balls in a bag is
(A) 5 (B) 10

(C) 15 (D) 20

Digital signature certificate is
requirement under various applications
of business.

(A) Statutory

(B) Mandatory

(C) Governmental

(D) Voluntary

92.

_ adaia uRRadRAg qeie
3 B, sREIB d YA RAY [Rixel
vl ol ARddcadi B.

(A) fusduelicis iNeldl
(B) delolicats 2ANelol
(C) @i} ANl

(D) MRre 2ANeol

. idRs IS Rz Al ultena
Wl B, uid Bdar go2dlvoA
feea 32l uEld 8 B.

(A) idRs

(B) ¥ii4s videl

(C) aAnRs

(D) ©eollg dele scll

As NI 5 did €SI Val B2cIS ORI
£s1D. B el €51 UAE srallell Aeiidoll
did est sl el &ia dl A ¢t

gstell Avl D,
(A) 5 (B) 10
(C) 15 (D) 20
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(C) s
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94.

95.

96.

The backward-bending labour supply
curve is due to

(A) The shape of individual's indifference
curves between leisure and income

(B) The fact that people’s response to
a wage rise is just the same at high
levels of income as it is at low levels
of income

(C) Thefactthatthe income and substitution

effect of an increase in the wage rate
work in the same direction

(D) Thefactthatthe income and substitution

effect of an decrease in the wage rate
work in the same direction

When Average Revenue (AR) is constant,
Marginal Revenue (MR) is

(A) More than AR

(B) Less than AR

(C) Equalto AR

(D) Equal to zero

Gratuity received by an employee covered
by the Payment of Gratuity Act, 1972 is

exempt to the maximum of for
the Assessment year 2021-22.

(A) Rs. 3,50,000
(B) Rs. 10,00,000
(C) Rs. 20,00,000
(D) Rs. 30,00,000

94,

95.

96.

uisnedl dg odfl wdl % YRasl asq
sRel

(A) 198 da ARIH 9Aoll fEddIdl
AAGRA gsall 1R

(B) &slsd A & 3 Adaai ga ga;
W A UGy 1986l Ul 23
ial A4Sl oflA1 263 2400 B

(C) &slsd A B 3 ActoteMi yard

Adioll 2148 i 21AY ViR
Asy 2w s3] 53

(D) &8lsd A B 3 Adoeicdi €21
diell AIYS HA AW VAR A5Y
R2mai 519 53 B

VAR AR 45 (AR) Rer A
8. AR Ridia 145 (MR) da d

(A) AR SdI 4eR
(B) AR 8:dl 3018
(C) AR o102

(D) YoA GRAGR

AAA Ase, 1972 ol Ysqe R
A9l dvidiai 219d saUI gz Andy
AYAL, AAANe2 g 2021-22 w2
Hedd YL .

(A) 3,50,000 3I.
(B) 10,00,000 3.
(C) 20,00,000 3.

(D)

30,00,000 3.
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97.

98.

99.

100.

Degree of Freedom for Chi-square test
in case of contingency table of order
(5x5) is
(A) 25 (B) 16

(C) 10 (D) 5

Only significant events which affect
business must be recorded as per
principle of

(A) Accrual

(B) Materiality

(C) Going concern

(D) Business entity

How many designated partners are
required in LLP ?

(A) Seven designated partners
(B) Atleast two designated partners

(C) More than two partners

(D) At least seven designated partners

Student’s t-test was designed by

(A) R. A. Fisher
(B) Wilcoxon

(C) Wald Wolfowitz

(D) W.S. Gosset

97.

98.

99.

100.

2isRas 20d (5x5) ol BAMI 88

gof URERl 12 2adaidiefl a8,
(A) 25 (B) 16

(C) 10 (D) 5

55d Hecdoll €2oll ¥ A AR -t
B Qo dlacl NgA A Aot s Rsict
uAIdl 8.

(A) BUIFal

(B) crdcl@c

(C) Wgldl
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(B) el sl A ysd el
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